Subject: Re: rotate a large data volume
Posted by Jeff N. on Thu, 08 Sep 2005 07:05:46 GMT

View Forum Message <> Reply to Message

Sure Peter,

Here's an example with a 3x3x3 cube that I'd already made up so that |
could get a handle on problem myself (I'm helping out a friend here,

its not really my problem....though I guess it has become that way |
suppose :) )

These three input bands (BSQ interleave):

in0

945
286
264

inl

281
352
116

in2

174
762
385

should give a 1st output band of
514
622
465

Hope this helps!
Jeff
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